
ANSWER KEY

TOPICWISE EXAM - 14

27. b) 69% 69% 69% 69% 69%

      h¿≤-\hv = 2p + p2 
= 

2x30 +30x30 
= 69%

                                  100             100

28. d) 240) 240) 240) 240) 240

            a2 = 3600 cm2,     a = 60

       Np‰-fhv =4a

                       = 4x60 = 240

29. b) 14 14 14 14 14

hrØ-Øns‚ Bcw = k-a-N-Xp-c-Øns‚ Hcp hiw

                                  2

                               r = 28/2 = 14

30. b) 25 25 25 25 25

                  d = 5√2

                        a2 = d2

/2

                            = (5√2)2

                                   2

                           = 25

28cm

1. b) tNm°q¿ imk\w

2. d) ÿmWp chn-h¿Ω

3. c) ^ntdmkv jm Xp•Iv

4. a) Knbm-kp-±o≥ Xp•Iv

5. a) Pl≥]\

6. d) FtU-z¿Uv X\mkv

7. b) amº≈n imk\w

8. c) ItTm-]-\n-jØv

9. c) \tc{µ\mYZØ

10. d) 1893 sk]v‰w-_¿ 11

11. b) {]_p-≤-`m-cXw

12. c) 226

13. a) {_n´¨

14. b) tIzm-˛-hm-dt‚m

15. c) \nßƒ°v icocw Gs‰Sp°mw

16. d)Ati-mIs‚ c≠mw inem imk\w

17. b) Io¿Øn-kp-tcjv

18. b) N{µ-]-c-y-th-jWw

19. c) sI.-]-fl-\m-`≥ \mb¿

20. c) amXyp sF∏v

21. d) F≥.-Ir-jvW-]n≈

22. d) Nß-ºpg IrjvW-]n≈

23. a) its

24. b) myself

25. c) at myself

26. a) some

27. b) 69%

28. d) 240

29. b) 14

30. b) 25

d = √2 a

d2 = 2a2


